F' A

Nakamichi

Service Manual

Nakamichi
DS-200/DS-100
program timer




DS-200
DS-100

CONTENTS
1. General (DS-200/DS-T00) - ot vttt et et et e e 2
1. . DS 200 - -ttt i e e e e e e 2
8 R 0 T 1 oo 3
2. Principle of Operation (DS-200/DS-100) - . -« .t ittt ittt i ettt e e e 4
2. 1. Fluorescent-Character-Display-Tube Timer Clock . ........ .. it i, 4
2. 2. Transistors on SwWitch P.C.B. .. oo ittt i it ettt i ettt et e 5
3. DS-200 Removal Procedures .. ... ... i e e e 7
3. 1. Top Coverand Front Mechanism Ass Y . .v vt iint it ininsin et eesnannneaneeennens 7
3. 2. Front Panel Ass'y .o i it i it e et et e 7
3. 3. Push Button Ass’'y and Switch Holder Ass'y .« oo vttt e e et et e e i e eaan 7
T S B 11 ] - LY 2 £ 20 7
3. 5. Relay P.C.B. Ass'y and Side Chassis ..« ..t vttt ittt ittt it et e 7
4, DS-200 Mechanism Ass'y and Parts List ... ... ..ottt ittt ittt ettt taeeatenennans 8
L T Y 11 T 8
4. 2. Front Mechanism Ass'y (ADT)  « o i ittt et et e e e e e et 9
4, 3. Bottom Case Ass'Y (AD2) . it ittt e e e 9
5. DS-200 Mounting Diagrams and Parts List . ...... ... .. ..ttt iiai e 12
B, 1. SWITCh Pl B, ASS Y i e i e et e 12
B, 2. DiSPlay ASS Y e e e e e 12
B, 3. Relay P.C B. ASS' Y ittt i e e e 12
6. DS-200 Schematic Diagram ... ... ... i i e i e e e s 13
7. DS-100 Removal Procedures . ... ... ... ittt ittt ittt ettt e 14
7. 1. FrontPanel and Case Covers ... ...ttt tn ittt tn it anssaass e 14
7. 2. Front Mechanism Ass’y, Rear Panel Ass'y, Power Transformer and Relay P.C.B. Ass'y ........ 14
7. 3. DISPlAY ASS Y i e e e e e e e e e 14
7. 4. Push Button Ass’y, Push Switch and Switch P.C.B. Ass'y ... ..., 14
7. 5. Slide Switch, 3P Terminal, Power Cord and Outlets ... ... ottt ittt iie e eeeemeennenn 14
8. DS-100 Mechanism Ass’'y and Parts List . ... ... .. it e e e e e 16
L J B AV o 4 V-1 T e 16
8. 2. FrontPanel Ass'y (ADT) .. ittt i e e e 16
8. 3. Front Mechanism Ass'y (ADZ2) ...ttt ittt ittt ettt ettt et 16
9. DS-100 Mounting Diagrams and Parts List . ....... ..ttt ittt et ranraneeneas 17
0. 1. SWItCh PLC B, ASS Y i i e e e e e 17
. 2. DSPlaY ASS Y i e e e 17
0. 3. Relay Pl B. ASS Y ittt e e 17
10. DS-100 Schematic Diagram . . ... ... .. .ttt i it e e e 18
11.  Specifications (DS-200/DS-100) .. ... it it i e e e e e e 19
I TP O 1 0 19
1T, 2. DS-T00 ...ttt e e e e e 19



DS-200
DS-100

1. GENERAL

1.1. DS-200

Nakamichi DS-200 Program Timer control functions are shown below:
1. Timer Indicator (Colon) 9. Timer
2. Display 10. Record/Play
3. Brightness 11. Record Indicator
4, Fast 12. Remote Control Sockets
5. Slow 13. Line Frequency
6. Second 14. AC OQOutlets
7. Set 15. AC Power Cord
8. Sleep

Fig. 1.1 Front View

Program Timer DS-200 Remote
Voitage 120V ~ 50/60Hz

Unit Power Consumption aw

AC. Qutlets JO0W Max. sach

Serial No.

Renonrch Inc.
Made in Japsn

Fig. 1.2 Rear View



DS-200
DS-100

1.2. DS-100

Nakamichi DS-100 Program Timer control functions are shown below:
1. Timer Indicator (Colon) 8. Sleep
2. Display 9. Timer
3. Brightness 10. System Mains
4. Fast 11. AC Outlets
5. Slow 12. Line Frequency
6. Sec 13. AC Power Cord
7. Set

Fig. 1.3 Front View

AC. Qutlets 400W Max. Esch

Neharrictd Aiseoarch .
Mase . Jepan

Fig. 1.4 Rear View



2. PRINCIPLE OF OPERATION (DS-200/DS-100)

2.1. Fluorescent-Character-Display-Tube Timer Clock
Timer Clock consists of a display unit which displays time
and other functions and a MOS IC which controls the
display unit.
Display tube is a fluorescent character display tube of the
directly heated type of multi-anode multiple-triode tube,
the details of which are shown in Fig. 2.1.1.
MOS IC is packed in a 40-pin package and its inputs and
outputs are TTL compatible.
About + 22 V is applied to VDD and VSS is connected to
GND. The block diagram of MOS IC (uPD5316C) is
shown in Fig. 2.1.2 and its functions are explained beiow:
Min Display:
First digit of display activated by the output of the
MOS IC pin Nos. 16—22.
10 Min Display:
Second digit of display activated by the output of
the MOS IC pin Nos. 10—16.

DS-200
DS-100

Hrs Display:
Third digit of display activated by the output of the
MOS IC pin Nos. 3-9.

10 Hrs Display:
Fourth digit of display activated by the output of
the MOS IC pin No. 2. Only characters 0 and 1 are
available.

AM Display:
AM is activated by the output of MOS IC pin No. 1.

PM Display:
PM is activated by the output of MOS IC pin No.
40.

Timer Indicator (Colon) Display:
With Timer Switch turned ON, H level applied to
colon is cut off and 1 Hz signal is applied from the
inside circuit of the IC instead, conducting flashing
of colon.

\— d:J | —
w 11 e (1
Y I I I I I I I |
- el

TerminalNo.|1 2 3456 7 8 91011121314 1516 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 32

Signal

€4

|FCohCoIz PMAM fa 94 04 Ca ba f5 g3 a3 b3 d3 C3 €3 G fo J2 A2 b2 €2C2 f1 Q1 Gy by €1 C1 di F
d4

d2

Fig. 2.1.1



DS-200
DS-100

iHz ba+Cs PM as — 93 dz — Q2 A — O

AM
B » 2] %‘ " ‘(3-9)‘ ‘(_'z-_*z)] l(_'e_-.zs’ |
Output Common %Q_—
Source
. 237
Blankmgi——

Decorder Driver

To DeAcorder

Time of Day

35 Waveform Y N 4 1 1 1
50/60Hz Inpuii— Shaping | /50, /60 /so i /eo /12 /2
36
50/60Hz Se|ect%
L’Wv— Vss
25
Timer Output %————J
26 Al
Timer Off (sq:: e) Comparator
Vss ooz

24 Vss
Snooze Input
Sleep Output i27
(+22V) Voo (+) 2 Alarm Timer
Sieep Down
29 |,
Vss (=) =] — Yo Vi 72
| 50/60Hz  2Hz L8 L9 O
~ J
Y
33 Vss To Decorder
Slow Set
Fast Set 34 Time Adjust
ast Se
I L'\Mr— Vss
Vss "
32 Display Mode
Second Display i—L sp| Y
elector

30

Sleep Display

[-W— Vss
Alarm Display %31
L

MOS IC pPD5316C J

-
Fig. 2.1.2

2.2. Transistors on Switch P.C.B,
(1) Q1, Q2 (DS-100/DS-200) +22V O
Refer to Fig. 2.2.1. When Sleep Switch {(SW6) is position- . le :
ed ON, transistor Q1 turns ON while the capacitor C3 is Sleop Display 181565 g%K %A??ﬁ
charging, but turns OFF when C3 finished charging. Fast Set O—fJ—+ /
When Q1 turns ON, Sleep Display and Fast Set turn to H, 1s105255
and the time changes from 0 to 59 min. At this time Sleep R6 ¥
Output turns to H and Q2 will turn to ON, conducting Sleep Out 33K g 33K
Sleep Display and Fast Set to GND. Therefore sleep " R SW6
function will be released 59 minutes later. €3 0.01 O—IS'”"
Note: Above sleep function is only effective when the »L

time displays O, as the Sleep Qutput is H and Q2 ’

turns ON except O. Fig. 2.2.1



(2) Q3 (DS-100/DS-200)

Refer to Fig. 2.2.2. While in timer mode, H signal of

Timer Output conducts Q3 to ON and Q3 actuates the

RL1 relay to turn the AC power source outlet for

ON/OFF.

While in sleep mode, when sleep display becomes O the

Sleep Output turns from H to L. Then Q3 is cut off and

RL1 will also turn to OFF.

While in modes other than the above, Q3 turns to ON

through R7 and actuates RL1.

Note: DS-100 incorporates System Mains Switch and in
the position of OFF, Q3 can not turn ON as the
base of Q3 is conducted to GND. In the position
ON, the base of Q3 is released from GND allowing
Q3 to turn ON.

+22v o0 1

Sleep Out

Timer Out O

r————

o_.)‘m ‘—I—Oésymm i I
+22v R7 ()
o O 33K IL SW8 d I

SWT SwWé
Timer Sleep

(DS-100 only)

Fig. 2.2.2

(3) Q4, Q5, Q6 (DS-200 only)

Refer to Figs. 2.2.3 and 2.2.4. When Timer Switch is
positioned ON, power supply is applied to a Flip-Flop
explained in the item (4).

At the timer-set time, Timer Output turns H and Q4 turns
ON while C4 is charging, but turns OFF when C4 finished
charging. Therefore Q4 turns ON in the form of pulse.
While Q4 is ON, if LED (D7) goes out (i.e. Q9 is cut off
and the collector of Q9 is L), Q5 will not be able to turn
ON but Q6 will turn ON after C5 finished charging.

The output from Q6 (play) enters tape decks (Nakamichi
100011, 70011, 1000 and 700) through Remote Control
Sockets and will give the instructions to play.

If LED (D7) lights (i.e. the collector of Q9 is H), Q5 will
turn ON and also Q6 will turn ON in the same manners as
above. The outputs from Qb5 (record) and Q6 {play) enter
tape decks and will give the instructions to record.

DS-200
DS-100

R10
15K Q4
Timer Out O—WwWA— 2SA733
————————0 (Record)
(Play)
g
@«
e ¢
£
2 oM |25C945
VN
o
o
o> J  25C945
) To Q9 Collector
D6 151555
Fig. 2.2.3
+v © {59Min)
TIMER OUT
ov _—
ON
RELAY
(RL1)
OFF e !
ON
Qa4
OFF
ON
Qs tf Q9 is ON (Play Mode).
(RECORD) |
oFF 2
ON
; i
(PLAY)
OFF
Fig. 2.2.4

(4) Q7, Q8, Q9 (DS-200 only)

Refer to Fig. 2.2.5. Q8 and Q9 compose a Flip-Flop for
Record/Play. Every time when Record/Play button is
depressed, the Flip-Flop is reversed and selects record
(Q8: ON) or play (Q9: ON} mode.

Record Indicator on the Front Panel will illuminate in
record mode. When Timer Switch is turned ON, Q7 turns
ON in the form of pulse and subsequently Q9 is turned
ON to initiality restrict the Flip-Flop to the play mode.

SW7 A Record
Timer P » _'o—'—
+22v .
oX
=m0
™Y a7
2SA733
©5

°o"|- 2SA




DS-200
DS-100
3. DS-200 REMOVAL PROCEDURES

3.1. Top Cover and Front Mechanism Ass’y

Refer to Fig. 3.1. Remove FO01, F02, then FO3 (Top
Cover).

Remove F04, F05, F06 and FQ07, then F08 (Front
Mechanism Ass'y).

3.2. Front Panel Ass'y
Refer to Fig. 3.2. Remove Top Cover and Front
Mechanism Ass'y referring to item 3.1. Remove FO1, then
FO2 (Front Panel Ass'y).

3.3 Push Button Ass’y and Switch Holder Ass'y

Refer to Fig. 3.3. Remove Top Cover and Front
Mechanism Ass'y referring to item 3.1, then remove
Front Panel Ass'y referring to item 3.2. Remove FO1,
FO2 and FO3, then F04 (Push Button Ass'y) and F05
(Switch Holder Ass'y).

3.4. Display Ass'y
Refer to Fig. 3.4. Remove Top Cover and Front
Mechanism Ass'y referring to item 3.1. Remove F01, then
FO2 (Display Ass'y).

3.5. Relay P.C.B. Ass'y and Side Chassis

Refer to Fig. 3.5. Remove Top Cover and Front
Mechanism Ass’y referring to item 3.1. Remove FO1 and
F02, then FO3 (Relay P.C.B. Ass'y). Remove F04 and
FO5, then FO6 (Side Chassis R) and FO7 (Side Chassis L}.

Fig. 3.5



4. DS-200 MECHANISM ASS'Y AND PARTS LIST

4.1. Synthesis

LO
LO1

Schematic

Ref. No. Part No. Description Q'ty
Synthesis
01 0OHO03463A | Top Cover 1
02 - Front Mechanism Ass'y -1
03 JAO3311A | Bottom Case Ass’y (JAPAN) 1
JAO3297A | Bottom Case Ass’y 1
(CANADA, U.S.A.)
JAO3298A | Bottom Case Ass'y (SEMKO) 1
JAQ3299A | Bottom Case Ass'y (BS) 1
JAO3310A | Bottom Case Ass'y {OTHERS) 1
LO1 OEO0157A | Washer 3mm {Plastics) 6
LO2 0EOO0713A | Screw M3x6 Philips Truss Head 4
(Bronze)
LO3 OEQ0540A | Screw M3x5 Philips Binding Head | 2
{Bronze)
LO4 OEOQO505A | Screw M3x6 Philips Countersunk 2

DS-200
DS-100




DS-200
DS-100

4.2. Front Mechanism Ass'y (A01)

4.3. Bottom Case Ass'y (A02)

LM 14



DS-200
DS-100

S';::: n&a;'lc Part No. Description Q'ty S;::":::c Part No. Description Q'ty
A01 - Front Mechanism Ass'y 1 15 0J03779B | Bottom Case DS-200 (CANADA, 1
U.S.A., JAPAN, OTHERS)
01 HAO03741A| Front Panel Ass'y 1 0J03881C | Bottom Case DS-200 (SEMKO) 1
02 JA03223B | Front Chassis Sub Ass'y 1 0J03780B | Bottom Case DS-200 (BS) 1
03 OHO3573A | Acrylic Cover 1 16 0JO3550A | Side Chassis R 1
04 OHO3574A | Blue Filter 1 LO1 OEQ0746A | Screw M2x6 Philips Binding Head| 2
05 0J03555A | Double Face Tape B 1 {Bronze)
06 JAO3061A | Push Button Ass'y 8 LO2 OEQO805A | Washer 2mm (Plastics) 2
07 0JO3558A | LED Holder 1 LO3 OEQ0025A | Washer 2mm Spring 2
08 BAO03934A| Display Ass'y 1 LO4 OEQ0176A | Nut Hex. M2 2
09 0J03548B | Switch Holder 1 LOS OE00714A | Screw M2.6x6 Philips Binding 4
10 BAO3938A| Switch P.C.B. Ass'y (CANADA, 1 Head (Bronze)
US.A., JAPAN) LO6 OEO00651A | Washer 2.6mm {plastics) 4
BAO3978A| Switch P.C.B. Ass'y (SEMKO, 1 LO7 OEO0518A | Screw M3x8 Philips Countersunk 2
BS, OTHERS) LO8 OE00594A | Screw M3x8 Philips Binding 4
LO1 OEOOG0BA | Screw M3x6 Philips Pan Head 7 Head (Bronze) (JAPAN)
(3A) . OEO0815A | Screw M2x4 Philips Countersunk 4
02 0EQ0612A | Screw M3x6 Philips Pan Head 6 (CANADA, U.S.A., OTHERS)
(2A) LO9 OE00157A | Washer 3mm (Plastics) 8
LO3 OE00226A | Screw M2.6x4 Philips Pan Head 2 L10 OE00540A | Screw M3x5 Philips Binding Head 4
LO4 OEQ0773A | BT Screw M2x4 Philips Pan Head 2 {Bronze)
L11 OEQ0738A | Screw M4x6 Philips Binding Head 2
A02 JAQ3311A | Bottom Case Ass'y (JAPAN) 1 (Bronze)
JA03297A | Bottom Case Ass'y 1 L12 OEOQ0645A | -Washer 4mm (Plastics) 2
{CANADA, US.A) - OEOC037A | Earth Lug B-5 (SEMKO, BS) 1
JAD3298A | Bottom Case Ass’y (SEMKQ) 1 ~
JAQ3299A | Bottom Case Ass'y (BS) 1
JAQ3310A | Bottom Case Ass'y (OTHERS) - 1
o1 0J03549A | Side Chassis L 1 :
02 0J03552A | Bolt Receptacle Plate for Relay 1
03 BAO3935A | Relay P.C.B. Ass'y (CANADA, 1 .
US.A., JAPAN)
BAO3936A | Relay P.C.B. Ass'y {SEMKOQ) 1
BAOQ3937A | Relay P.C.B. Ass’y (BS, OTHERS)| 1
04 0B08398A | AC OQutlet (JAPAN) 2
0B08510A | AC Outlet (CANADA, 2
U.S.A., OTHERS)
0B08509A | AC Qutlet (SEMKO) 1
0BO8356A | AC Outlet (BS) 2
05 0J03878A | Bolt Receptacle Plate for Qutlet 4
(JAPAN)
06 0B0O6577A | Power Transformer (CANADA, 1
U.S.A., JAPAN)
0B06578A | Power Transformer (SEMKO, BS, 1
OTHERS)
07 0C01162B | Bolt Receptacle Piate for Trans. 2
08 0B07551A | 10P Plug Board 1
09 0BO8075A | 7P DIN Socket 2
10 0B07125A | Slide Switch 1
11 0A03154A | Cord Spacer 1
12 0B08037VU | Cord Bushing C (CANADA, 1
U.S.A., JAPAN, OTHERS)
0B08325A | Cord Bushing E (SEMKO, BS) 1
13 0B08219U | Power Cord (JAPAN) 1
OB0O8350A | Power Cord (CANADA, US.A., 1
OTHERS)
0B08149U | Power Cord {SEMKO) 1
0B08266U | Power Cord (BS) 1
14 0H03427B | Foot q

10




DS-200
DS-100

s;::"r‘::c Part No. Description S;I;fe‘ ",:f;:c Part No. _ Description
BAO03938A (Switch P.C.B. Ass'y CN1 0B08443A |4P-H Connector Timer A
(CANADA, U.S.A., JAPAN) CN2 0B08187A |12P-H Connector Ass'y
BAO03978A | Switch P.C.B. Ass'y 0B08508A | Display Tube 5-4T-02 (1 pce.)
(SEMKO, BS, OTHERS) 0J03888A | Double Face Tape for Display (1 pce.)
0B0O7776A | DS-200 Switch P.C.B. BA03935A | Relay P.C.B. Ass’'y
Q1,4,7 0B06013A | Transistor 2SA733 (CANADA, U.S.A., JAPAN)
Q2,3,5,6 0B0O1872A | Transistor 25C945

8,9 0B07778A |Relay P.C.B.

D1,2,3,4 | OBO1909A |Silicon Diode 151555 RL1 | 0BO7216A |Power Relay ~ HL2-TM-DC 24V

5,6 M4,5 0B08342A | Spark Killer AC 125V (R + C)
D7 0BOG028A | LED
R1,14,15 | OBO5563A | Carbon Resistor 56K ERD-25V J BA03936A | Relay P.C.B. Ass’y (SEMKO)

R2 0B05673A | Carbon Resistor 56K ERD-25V J
R3,4,5,6 0B01879A | Carbon Resistor 33K ERD-25V J 0B07778A |Relay P.C.B.

79,19, 28 RL1 0B07216A |Power Relay HL2-TM-DC 24V
R8 0B01833A |Carbon Resistor 10K ERD-25V J| M45 0B0O7096U | Spark Killer {C: 0.01u)
R10,24 0B0O5591A | Carbon Resistor 15K ERD-25v J| F3 0B08420A | Fuse 32mA T
R11 0B0O1795A [ Carbon Resistor 4.7k ERD-25V J 0B08349A | Fuse Clip (2 pcs.)

R12 0B05564A | Carbon Resistor 1M  ERD-25VJ

R13 0BO5597A | Carbon Resistor 680K ERD-25V J BA03937A | Relay P.C.B. Ass'y (BS, OTHERS)
R16 0B05669A |Carbon Resistor 180K ERD-25V J

R17 0B05568A | Carbon Resistor 120K ERD-25V J 0B07778A | Relay P.C.B.

R18,20 0B01920A | Carbon Resistor 100K ERD-25V J| RL1 0B07216A | Power Relay HL2-TM-DC 24V
R21 0B01793A | Carbon Resistor 3.3K ERD-25vJ| M4)5 0B08240U | Spark Kiiler AC 250V (R + C)
R22,23,256 | 0BO5596A | Carbon Resistor 220K ERD-25V J| F3 0B08420A | Fuse 32mA T

26 0B08349A | Fuse Clip (2 pcs.)
R27 0B0O5538A | Carbon Resistor 27K ERD-25v J
c1 0B05793A | Electrolytic Capacitor 330u 25V
c2 0B01674A | Electrolytic Capacitor 10u 25V
C3,6,8,9 0B01918A | Mylar Capacitor 0.01x 50V
c4 0B0O1402A | Electrolytic Capacitor 4.7u 25V .

C5 0B01394A | Electrolytic Capacitor 220u 6.3V
C7,10 0B05893A | Ceramic Capacitor 680P 50V K
CN1 0B08236A |4P-T Post
CN2 0B08178A | 12P-T Post
CN3 BAO3807A | 10P Connector Ass'y
0B07198A | Timer Push Switch A {1 pce.)
0B03870A | Push Switch (Lock) {1 pce.) R
0B07128A | Push Switch {(Nonlock) {1 pce.)
F1,F2 0B08505A | Fuse 500mA *
0B08349A | Fuse Clip (4 pes.) *
OMO3906A | Fuse Label 500mA x 2 {1 pce.) *
Note: Part marked with * is incorporat-
ed in Switch P.C.B. Ass'y
(SEMKO, BS, OTHERS) only.
BAO3934A | Display Ass'y
0B07777C | Display P.C.B.
Q1 0B01426A | Transistor 2SA562
Q2 0B01872A | Transistor 25C945
I1C1 0B06168A | IC uPD5316C
D1,2,3,4 0B06109A | Silicon Diode GP0O8B
D5,6 0BO1909A | Silicon Diode 1815565
R1 0B01684A | Carbon Resistor 470K ERD-25T J
R2,3 0B05795A | Carbon Resistor 150 ERD-25T J
R4 0B05784A | Carbon Resistor 560K ERD-25T J
R5 0B05620A | Carbon Resistor 270K ERD-25T J
R6 0B05641A | Carbon Resistor 47K ERD-25T J
C1 0B05638A | Tantalum Capacitor 1u 35V
Cc2 0B0O9090A | Ceramic Capacitor  1500P
C3 0B05657A | Tantalum Capacitor 4.7u 16V

11




5. DS-200 MOUNTING DIAGRAMS AND PARTS LIST

Note: Mounting diagram shows a dip side view of the printed circuit board.
5.1. Switch P.C.B. Ass'y
I g
Timer Set
| = ;
i Brightness Fast Slow Second Set e
2 = 7 I g W r
1 lo ol  miosex leo ol olo ol o |o ol lo ol
w
IO: |o ol |o ol :lo oI —sll }o ) Io olg
-l I ® | I ?
o | & =
< o o o o o o o o o o
: ey - | ¥ _° " 2l e | 6 /%
2 °| SWi | sw2 =| SW3 swa w o
L-%
b £ |°| | |
g | | R2g 33K O
" |2 A i asgqaav o | o -
i = Uy o Q6 ~0 R18
& lia pe gl o & 3 S Ri0 15K 25Ce45 g G 100K
- = o 25C945 T OWO
|o| T2 0004 D3 151555 = OWvo OMAO
— — { " b 1
? 5 o
(& ig 5 0ad QF £3 &
23 ,,,u:'i 25A7T33 202 %
CN=2 -:I —____fi:a________ US\IIJ WO O B A
I 7 & R45 56K
10 3 o WO 0‘!}0
J) l p— J— Al| Q5 R46 ca
. 25C945 1BOK 47425V
CN=-2
e ;
_] > = = o= (=] > =
© 0 Sy == Z 9 5
5 Y2 8. & S & 4
[ - e el O e o o
eyESPa2ad0g2 = g2 %
E.{.mg;ﬁﬂ,‘ﬂshs wen =
g - s ao.C g
i S§EBSF E
EFF £
2 F
Fig. 5.1
5.2. Display Ass'y
cz S E
nk= >
CN-2 o";oop&gn“ TR
12 Ky B2 Sad o—"vW—o
GND © = R4 560K RE  4TK
Timer Qutput © 5 J 4
Timer Off © AR B R osasez R 92
Sleep Output © Q r_.._-______f_._._____.._
; 91 oo ooo0ooooooo0o00000olo
Sleep Display'o | )2 401 | D3 ., 6PO8
Timer Display © E [ l | | 4 o—J4——>
Second Display 0 + 21| e = o 2 o_m_H_EFEg L
Slow Set‘o | I | EIRSaG |‘-] }" T D4 g 6PO8 o0 | taciev
Fast Set o o——C * e
8 FII | Lw|-l o2 6pos ¥ 12 |
50Hz © [ Iag 1 L O—K——O Z Ot
+22v 0 68 000000000000 00000000% 84 w2~ | tacsv
Brightness © %’p_my_____________________________________________ 1™
| " 1290900000000 000060060000660660006%5534
wma e UU}U-QD.CI‘Q._U"'-'EQUUQDU‘*.QQU“U“—E;ESU_
-1 G o < a 8
+ v = — = B
£ £ 4 4 =
= = e T =
o =] S
2
Fig. 5.2

12



1
_ 5
L &
it v_nm&m %
5 & o ol 2.5
L= e xomN 224 w
s =
& & @ @ _s
e ity Ny ] - w X
I o mmhmw nw mMm
_ M M.w -
OWANO T
WWOL Y %022 <2 9.8
¥Zd @
o 92 ﬂCﬁ
KEN »Nmnw SGSISH
| 255 5333 ol
E—~ __ & 90
o e} .0...._ ] M O.:.O
= _ 100
E (& mu%a wee vy 92
E = .
F o el TPERS e
= 7 e O B
_ Asz for Ty OWAO on
—I 22 looen A9GEHX
e AW i sty IS ©
5@ o oo 0l | x
g ¢ =0 )8
& |2 2

SSisk . 20 & OO
o o Oln MBS #iy
R o =
& AN mmm B 38228
o & @) @ OF S0l“®
=N =7 HozZk g

5.3. Relay P.C.B. Ass'y

‘SUDl| -—0

aulm uqllllo _

13400 oy -« =5 _

0l

O———— Trans,

Liwwze ¢4

Fig. 5.3



DS-200
DS-100

6. DS-200 SCHEMATIC DIAGRAM

BLK
ORN
8Ly
[
Ll nABOBRRRRAN rl
—_ -— -— -— F] a]5]6]7
SWITCH P.c.B. | - L i
iy |
o7 Sox 2 |
25A733 b3 RIO
£ L | ®8 100k 15K
T v v
[ = *2
§ c6 001 zsms‘,gg > .
l ] * 28 at | 2 | 1 )
¥ Ll p__l -4 WHT'
. 6 « 2SA733 I 500mA I -.CN1
25C945 | o gu x ne - L —d 1
), [1zox oy | Rg 87 2
&/ < 55 s « 75| 3]
o < #2 —
« S58 :»E_ 23&245 0.65 R.;. === 4 }—
] - RS F1
8} E s 0% | o 075V 33k 3K 8 l ] T
' 2 Sk 388 |® R7 " it 1 sooma ! |
<E~ ] BES b ) 33 « 2 gl
§ lox| ¥ Az
Qe SoX < [—re—
25c9as) 250945 ﬁ =2 a5 S EC 2
06 250945
K %
151585 -3 |
| 5 i
I . 12
— o
—I B - 1
10}
< E
| 0
- o u
6]
u
4]
c3 L—o " El
0,01 O 2
] .
| Lo . § 1
) 3 cN2
O O60Hz Lo © o~ ———0 O [e] I_o o Lo o 0 © E‘ o o T(1- 12 WHT)
- || TH 14 I T
sws Sw7 swe e sw5 Swa sw3 sw2 SwA
| |
Lr\_._rL_ - - - —_ —-— - -—
SOHz/ 60Hz f:: RECORD TIMER SLEEP SET SECOND sLow FAST BRIGHTNESS
¢

Fig. 6



™1

%*3

120v(240v)
r=-n
LN ol
BRN
ﬂ' | AC Outlet
r M2 %5
' BRN
-J
J M3 #5
ERN{ E I
E ﬂ

DISPLAY P.C.B. | - - -
GPOBx4
. D1 03 zs?x‘ssz 22V]
| < W |
02 /‘ﬁ 228 B E
- O >
| [Hom S
l . L X0 e
[P (én:vmn l 3;’.‘-1-‘ 843 $5c04s
L——J L
_1?_ § 1 1 47 > cz=1soop
3
X ] S g l
Lol T o
! sooma ! | 37
LMy ]
3
«
<
5 B
£
& { 3 ]
> £
1 3
2| <
:‘ <
% 9736355433323130292726254232‘
7] ¢
6] l Lpl;suec I
3
Z § 12 345678 9101112 1314 1516 1718 19 20
2] 2|%ls
1 Xy
CN2
{1~ 12 WHT)
| a 1
|
e
T T T T rr
@ggggu-az:un‘- o0 av o.g—u:_n.uu—eea-ov@
_—— o . . . ,
Colon 40Hrs Hrs 10Min Min I
/ o [
! L1 s LI
Note: *1 (Spark Killer): Depends on each version.
*2 (Fuse): Some versions do not incorporate.
*3 (Power Cord): Depends on each version.
*4 (Power Transformer): Depends on each version.
*5 (AC Outlet): Depends on each version.

(SEMKO version incorporates only one Outlet.)

13



7. DS-100 REMOVAL PROCEDURES

7.1. Front Panel and Case Covers

Refer to Fig. 7.1. Remove FO1 and F02, then FO3 (Front
Panel).

Remove F04, then FO5 (Case Covers).

7.2. Front Mechanism Ass’y, Rear Panel Ass'y, Power

Transformer and Relay P.C.B. Ass'y
Refer to Fig. 7.2. Remove Front Panel and Case Covers
referring to item 7.1. Remove FO1 and F02, then FO3
(Front Mechanism Ass’y). Remove F04 and FO5, then
FO6 (Rear Panel Ass'y). Remove FO7, FO8 (Side Plate L)
and F09, then F10 (Power Transformer). Remove F11,
F12 and F13 (Side Plate R), then F14 (Relay P.C.B.
Ass'y).

7.3. Display Ass'y
Refer to Fig. 7.3. Remove Front Panel and Case Covers
referring to item 7.1. Remove F01, FO2 and F03, then
FO4 (Display Ass'y).

7.4. Push Button Ass’y, Push Switch and Switch P.C.B.
Ass’y

Refer to Fig. 7.4. Remove Front Panel and Case Covers

referring to item 7.1. Remove FO1, then FO2 (Push But-

ton Ass'y). Remove F03, F07, F08, F09, F04, FO5 (Push

Switch) and F06, then F10 (Switch P.C.B. Ass'y).

7.5. Slide Switch, 3P Terminal, Power Cord and Out-
lets
Refer to Fig. 7.6. Remove Front Panel and Case Covers
referring to item 7.1, then remove Rear Panel Ass'y
referring to item 7.2. Remove FO1, FO2 and F03, then
FO4 (Slide Switch). Remove F05, F06 and F07, then
FO8 (3P Terminal). Remove F09 and F10, then F11
(Power Cord). Remove F12 (Qutlets).

14




DS-200
DS-100

Schematic | part No. Description Qty | Sehematic | part No. Description Q'ty
Synthesis L10 OEOQ0025A | Washer 2mm Spring 2
L11 OEQ0176A | Nut Hex. M2 6
o1 — Front Panel Ass'y 1 L12 OE00746A |Screw M2x6 Philips Binding Head 2
02 - Front Mechanism Ass’y 1 : {Bronze)
03 O0HO3459A | Case Cover 2 L13 OEQO805A | Washer 2mm (Plastics) 2
04 0B0O7551A | 10P Plug Board 1 L14 0E00701A | Screw M3x10 Philips Binding 2
05 0J03788B | Side Chassis R 1 Head (CANADA, U.S.A., JAPAN,
06 BAO3935A [Relay P.C.B. Ass'y (CANADA, 1 SEMKO, OTHERS)
US.A., JAPAN) 1 L15 0EQ0507A | Nut Hex. M3 2
BAO3936A |Relay P.C.B. Ass’y (SEMKO) 1 — OEQ0594A | Screw M3x8 Philips Binding Head | 4
BA03937A |Relay P.C.B. Ass'y (BS, OTHERS)| 1 (Bronze) (JAPAN)
07 0J03552A | Bolt Receptacle Plate for Relay 1 - 0E00037A | Earth Lug B-5 (SEMKO, BS) 1
08 0J03787B | Side Chassis L 1
09 0B06577A | Power Transformer (CANADA, 1 AO01 - Front Panel Ass’'y 1
U.S.A,, JAPAN)
0B06578A | Power Transformer (SEMKO, 1 01 0HO03576A | Front Panel 1
BS, OTHERS) 02 OHO03573A | Acrylic Cover 1
10 0C01162B |Bolt Receptacle Plate for Trans. 2 03 0HO03574A | Blue Filter 1
11 0J03781C | Rear Panel DS-100 {CANADA, 1 LO1 OEQ0773A | BT Screw M2x4-Philips Pan Head 2
US.A,, JAPAN, OTHERS)
0J03882C | Rear Panel DS-100 (SEMKO) 1 A02 - Front Mechanism Ass'y 1
0J03782C | Rear Panel DS-100 (BS) 1 1
12 0B08510A | AC Outlet (CANADA, US.A., 2 01 JA032248 | Front Chassis Sub Ass'y 1
OTHERS) 02 BAO3934A [ Display Ass'y 1
0B08398A | AC Outlet (JAPAN) 2 03 BAOQ3939A |Switch P.C.B. Ass'y (CANADA, 1
0B0O8509A | AC Outlet {SEMKO) 2 U.S.A., JAPAN)
0B08356A | AC Outlet (BS) 2 BAO3979A |Switch P.C.B. Ass’y (SEMKO, 1
13 0B07125A |Slide Switch 1 BS, OTHERS)
14 0B08024U |3P Terminal (CANADA, US.A., 1 04 0J03410B |Switch Holder 1
JAPAN, SEMKO, OTHERS) 05 JAQ3061A |Push Button Ass'y 8
- 0B07786A | Terminal P.C.B. (BS) 1 06 0J03449C |Power Switch Holder 2
— 0J03892A | Términal P.C.B. Holder (BS) 1 07 0B07199A [Push Switch 2
15 0B08270U | 3P Terminal Insulator {CANADA,| 1 LO1 OEO0B606A |Screw M3x6 Philips Pan Head 6
US.A., JAPAN) (3A)
0B08410U | 3P Terminal Insulator (SEMKO, 1 LO2 0EQ0612A |[Screw M3x6 Philips Pan Head 6
OTHERS) (2A)
16 0A03154A |Cord Spacer 1 LO3 OE00226A |Screw M2.6x4 Philips Pan Head 2
17 0B08037U |Cord Bushing C (CANADA, 1
U.S.A., JAPAN, OTHERS)
0B08325U | Cord Bushing E (SEMKO, BS) 1
18 0B08350U |Power Cord (CANADA, US.A,, . 1
OTHERS)
0B08219U | Power Cord (JAPAN) 1
0B08149U |Power Cord (SEMKO) 1
0B08266U | Power Cord (BS) 1
19 0B08444A |4P-H Connector Timer B 1
- 0J03878A | Bolt Receptacle Plate for Outlet 4
(JAPAN)
LO1 OEO0813A | Screw M3x8 Hex. Socket Head 4
LO2 OEQ0677A |Washer 3mm (Plastics) 4
LO3 OEQ0B606A | Screw M3x6 Philips Pan Head 4
(3A)
L04 OEO00791A | Screw M2.6x5 Philips Binding 12
’ Head
LO05 OEO00607A | Screw M3x8 Philips Pan Head 2
(3A)
LO6 0EO00G664A | Screw M4x8 Philips Pan Head 2
(2A)
LO7 0OEQ0815A | Screw M2x4 Philips Countersunk 4
(CANADA, US.A,, OTHERS)
L08 0EOQ0593A | Screw M3x6 Philips Binding Head 4
(Bronze)
LO9 OEQ0157A | Washer 3mm (Plastics) 6

15




8. DS-100 MECHANISM ASS'Y AND PARTS LIST

8.1. Synthesis

Fig. 8.1

8.2. Front Panel Ass'y (A01)




8.3. Front Mechanism Ass'y (A02)

0
0512 g
0 >
202" 01
=L 9 01
21 >%%—Lo1




9. DS-100 MOUNTING DIAGRAMS AND PARTS LIST

Note: Mounting diagram shows a dip side view of the printed circuit board.
9.1. Switch P.C.B. Ass'y
SWB Syswm Malns
+
)
L Fast Slow X Second i Sleep Timer
B e F T T =i = T
| o ° | | o | ?[o o | |0 ol Io ol Io o|g
| =i i P 2| | “’%
- Io o | | o ol"i | o ol o olﬁ Elo olsgwlo Olé
R | | b| &2 )
< - -g
s & Y B 1 p i) oy Jo ol 2 | & ;
= sw sw w4 o WS oy [ Iz SW7 | Brightness SW.
. )| ks o
o o i
E B b S [ R3 33K R? 33K L‘_] }Sysfem SW.
" o, SO - R RS 33K \ b
& o t_° 0000000000 oj12 5 a8 Ak L-'?w';“l! Q/ﬁ gﬁ -y
i e, e o
l-° | D3 151555 m ©g Q1 S @ B
) &Lg B d o zsatss ©¢ K7
g e : a3 &S 53T
Lo | _3___.___.__....___......__‘asc945 g 2
4 o I ol
i) _— 256945 &
T
AR T R IR L L e 50 00 o liz
C G on 1 T
) g pe WD
o 3 g2 & e e |
= 55 5 $8z232283528
o O 5§+ E£5885383
i Womed Rl R
o E O g 9 - @
FEE o SN LB
B e =
Fig. 9.1
ti s i o Schematic
S&::‘:n&an!c Part No. Description S;:ﬁm;g:c Part No. Description Ref. No.
BAO03939A | Switch P.C.B. Ass'y BA03934A | Display Ass'y
(CANADA, U.S.A., JAPAN)
BAQ03979A | Switch P.C.B. Ass'y 0B07777C | Display P.C.B.
(SEMKO, BS, OTHERS) a1 0B01426A | Transistor 2SAB62
Q2 0BO1872A | Transistor 25C945 RL1
0B0O7775A | ST-ONE Switch P.C.B. 6 oBoG168A | Io LPD5316C M4,5
al ORUGE13A, | Transistor ZRiTens D1,2,3,4 | 0BOG109A | Silicon Diode GPOSB
o REl = )| Tipntistor 23CEM5 D5,6 0B01909A | Silicon Diode 151555
D1,2,3 QB0 |Sibeon Dibde 191HA0 R1 0BO1684A | Carbon Resistor 470K ERD-25T J
7 GEOBS /| ubonResisor:  Bek EBDZBVI| poy OBO5795A | Carbon Resistor 150 ERD-25T J
h2 P0R61eA |Carbon Resisior 58K ERDIBV S| o) 0BO5784A | Carbon Resistor 560K ERD-25T J | RLT
R3,4,56 |0B0O1879A | Carbon Resistor 33K ERD25VJ| pe 0BO5620A | Carbon Resistor 270K ERD-25T J | M4/5
79,10 R6 0BO5641A | Carbon Resistor ~ 47K ERD-25TJ | F3
R8 0B01833A | Carbon Resistor 10K ERD-25V J| 0BO5638A | Tantalum Capacitor 1u 35V
C1 0BO5793A | Electrolytic Capacitor 330u 25V c2 OBO9090A | Ceramic Capacitor  1500P
c2 0BO1674A | Electrolytic Capacitor 10u 25V c3 0BO5657A | Tantalum Capacitor 4.7u 16V
C3 0BO1918A | Mylar Capacitor 0.01u 50V CN1 0B08443A | 4P-H Connector Timer A
CN1,4 0BO8236A | 4P-T Post CN2 OBO8187A | 12P-H Connector Ass'y
CN2 0B0O8178A | 12P-T Post 0B08508A | Display Tube 5-4T-02 (1pee.) | RL1
CN3 BA03807A | 10P Connector Ass'y 0J03888A | Double Face Tape for Display (1pce.) | M4.5
0B07198A | Timer Push Switch A (1 pce.) F3
F1,2 0BOS505A | Fuse 500mA 5
0B0O8349A | Fuse Clip (4 pes.) *#
OMO3906A | Fuse Label 500mA x 2 (1 pce.) *
Note: Part marked with * is incorpora-
ed in Switch P.C.B. Ass'y
[SEMKO, BS, OTHERS) only.




9.2. Display Ass'y

c2 5= E
CN-2 1500p @ ©E &
15 OY/\b f%'(_,‘a 5:3% RS 270K
GND o g R4 560K RE 47K
Timer Output @ - a1
Timer Off © i o h— 2562 R iaas
Sleep Output' © 2 g O sy B LCUSISURSONSINY ol 5
; 9| B 6voo00oo0oo00G6o0o000000O0lo
Sleep Display © o e |a1 4.o| | ; 03 &rO8
Timer Display © £ [ | | & y
Second Display © =] =}3| | 1cH l‘)_‘l a 0 o—ﬂ—o‘spos Q._..I i
| LPDS346C o . AC16V
Slow Set © | ! .Ii | D41 P98 Q. J;
Fast Set o wof | | | pz , 6pos (€19 |
50Hz © |1 |20 1' lg|=l o——j¢—o0 o—»
+22v 0 b6 000000000000000060000 ¢ ¢ g1z }Acsv
Brightness © [EE]_D,:"__, I R L O e B e O O O O e O T O o S T
1T [86©506090000900060050006005000%55 9
I—u'-uom_nuuuu-omnuﬁ*—nmuﬂgbmu—gonc‘wzgi:n.u_
o = < I a z>
) = 3
- = SRS - = \\-._.E‘_-‘
= = B z 3
s A
Fig. 9.2
Relay P.C.B. Ass'y
E ¢ =
o 5 (s} ]
=4 =3 3 =
1 2 3
i - e N W s T
MEAYD 8
Schematic A ” |
Part No. Description
Ref. No. s P | II = Il |<* 5 A
BA03935A | Relay P.C.B. Ass'y I | : [l K9
(CANADA, U.S.A., JAPAN) | Il [l |
| I I |
0B07778A | Relay P.C.B. L_M_JL ____n:‘?__—“!L—s"J
RL1 0B07216A | Power Relay HL2-TM-DC 24V ;
M4.5 0B08342A | Spark Killer AC 125V (R + C) r
" T 0
BA03936A | Relay P.C.B. Ass'y (SEMKO) AT
- 58
0BO7778A | Relay P.C.B.
RL1 0B07216A | Power Relay HL2-TM-DC 24V Fig. 9.3
M4,5 0B07096U | Spark Killer (C: 0.01u)
F3 0B0O8420A | Fuse 3ZmA T
0B08349A | Fuse Clip (2 pes.)
BAO03937A | Relay P.C.B. Ass'y (BS, OTHERS)
OB0O7778A | Relay P.C.B.
RL1 0B07216A | Power Relay HL2-TM-DC 24V
M4.5 0B08240U | Spark Killer AC 250V (R + C)
F3 OB08420A | Fuse 32mA T
0BO08349A | Fuse Clip (2 pes.)

17



10. DS-100 SCHEMATIC DIAGRAM

LI [TzT3]+TsTeT7Ts] hg_r!
cN3
— — — e if2]5]a]5]6]7]8]3 10w = -
] switeH p.c.B. | . I
I nﬁll
‘2
x
s 3 x
g ot Be & § g
oTevi oF i s A 444 2
R7 & = ? T [ i
| ((.\ 33K (m R6 33K N
P, W W T | |
AT33 S00mA
a3 Q2 0,63 = b
23c945 | 25C945 R3 33K
P H '
3 ng ~ >
2 g‘ A 4 r—=
I : R4 33K PN
|
S L2004 ]
T
I [ S —
) S
L g
. ) L
c3 _l RY_ 56K r
r 0,01 o- —AA—-
I H . |-o 1 1 1 N
O 060Hz o o ‘o o l— o o o lo o Lo o Lo o
‘:a:HB"’OH' _M-—< 3 mm
sws SWT I SW6 33“]:' SW5 swa sw3 sw2
L. — — — —— — —
50Hz /60Hz SYSTEM MAINS TIMER SLEEP SET SECOND SLoW FAST
Fig. 10

18



—_—Tt 8
BLU} [ Mo mi
' i
[Ec3y) ' v | *3
BLU I
1]
veL | |
WH’
I | &) — 100v(220V)
1

I DISPLAY P.C.B. I

GPO8 x4
D4 03

|
(1-4 wHT) X
LSWMA_" _l_c'" l 02 j{a §
- Al oy 2 E 1rs 270k
2] 2 3 S
3] B 253
|——z-—-| 4 < "‘T L2
[y [' R1 470K
| 500mA I b
b== i I 228
—
$n0
(1-12 WHY) e
CN2
12 >
L 3
] _ 3
-9- -
€] ' — 3
17 ! [ E
Kl - 3
L I']' 3
4 C
oo 5] I l <
Y 2
2 7*_1 OO S OO
I 0 35 38 37 36 35 34 33 32 31 30 2 28 27 26 25 24 23 82 A1
1c4
TSN ' HPDS316C
% 123 456 78 9104112 13 14 1516 17 18 19 20
§ OO~ O OmO=OmQmO=OmOm OO O OuO=O=0
82|s
b 2 4
sw2 I sw1
I p—4
—— — J -
T T r
FAST BRIGHTNESS ®g§53-o::uﬂv-aavoogvo:_.ﬁ-u»nu‘.ov@
—_t ° 4 L J | — J L ]
I Colon 10Hrs Hrs 10Min Min
/ I T | i
[ ! [ LR | 1
Fig. 10 Note: *1 (Spark Killer): Depends on each version.

*2 (Fuse):
(Power Cord):

(AC Outlet):

3
*4 (Power Transformer):
5

Depends on each version.
Depends on each version.
Depends on each version.

|

Some versions do not incorporate.

DS-200
DS-100



DS-200
DS-100
11. SPECIFICATIONS (DS-200/DS-100)

11.1. DS-200

AC OULIEE oottt esasesessesessesesesessss e 400 W x 2

Timer Power CoONSUMPTION  .o.oeeivieeieeeeeeeeeeeseeeeeeseeeses s s 8w

Timer OPeration ... eteereeee e eeessssresssss seressannas 12 hour basis; self repeating
SIEEP TUMET ot se e e s e se s e ses s e et 1 — 59 minutes

Automatic TIMer SEttiNg ..ot s eeeeeesesesesesaessesenes 1 minute interval

Dimensions 310(W) x 50(H) x 113(D) mm

WEIGNT ettt sttt s s seeees st e e esesasee e sesessresesaes 1.9 kg

11.2. DS-100

AC OULIBE ettt ettt s e eree s s s s sssenes 400 W x 2

Timer Power CONSUMPLION ..ot eseeee s esee e e seesesraen 8w

Timer Operation 12 hour basis; self repeating
Sleep Timer ... 1 — 59 minutes

Automatic Timer SEtting  .ooeceeceieeeeeccecie et 1 minute interval
DIMENSIONS  oeveieeiereieciecestessresreeresseseesseestessesssessseneaesessnensassesseessenans 400(W) x 70(H) x 90(D) mm
WERIGNT ettt re ettt n e s e e s ens s et e b rerennnas 2.2 kg

19



Service Manual

Nakamichi DS-200/DS-100

Nakamichi Research Inc.
1-153 Suzukicho, Kodaira, Tokyo
Phone: {0423) 42-1111

Telex: 2832610 (NAKRE! J)

Cable: NAKAMICHI KOKUBUNJ!

Nakamichi Research (U.S.A).Inc.
220 Westbury Avenue,

Carle Place, N.Y. 11514

Phone: (5616) 333-5440

Telex: 144513 (NAKREI CAPL)

1101 Colorado Avenue,

Santa Monica, Calif. 90401
Phone: {213) 451-5901

Telex: 652429 (NAKRE! SNM)

0-80810A  Printed in Japan



	Nak_DS100_DS200_ServiceManual_1.pdf
	Nak_DS100_DS200_ServiceManual_2.pdf
	Nak_DS100_DS200_ServiceManual_3.pdf

